The continuum and interference effect In

e'e” > DD process
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The e*e” — DD process just above the
threshold of DD is important
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TABLE I. Branching ratio of Br(¢(3770) — DD) and the
coupling g, pp.

9405 |Br(DD)|Br(D°D°)|Br(D+D~)| Zr L D]

Br(DTD-—)

12.7 | 97.4% 58.0% 39.4% 1.47
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TABLE II: The cross sections of ete™ — DD and D™D~
at v/s = 3.773 GeV without the direct virtual photon con-
tribution, which are compared with experimental data. The
experimental data are taken from Ref.[4].

The calculation Exp. data
O o 50 6.5 nb (4.6 +0.12 £+ 0.45) nb
O p+p- 4.5 nb (3.29 £+ 0.10 £ 0.37) nb
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FIG. 2: The cross section of eTe™ — D°D° at /s =
3.773 GeV, varying with the parameter Fy and the relative
phase ¢. The plots a, b, ¢, d and e are for ¢ = 0, 7/12, 7 /6,
7/4 and 7 /2, respectively.



TABLE III: The numerical results for the cross sections of
ete™ = D°D® and D™D~ at /5 = 3.773 GeV with some
values of (Fp, ¢).

(Fo,9) (8.0,7/6) (6.0,7/4) (5.0, 7/2) Exp. data [4]

ocpopo 4.9 nb 4.8 nb 48 nb (4.6 £0.12 & 0.45)nb
cp+p- 3.4nb  34nb 3.3nb (3.29+0.10+0.37)nb
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FIG. 3: The cross section of eTe™ — D°D" changing with
the center-of-mass energy 1/s. The solid curve is for (Fp, @) =
(5.0, 7/2), the dotted one for (6.0,7/4), and the dashed for
(8.0, 7/6).
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